5418 / External View

¥J)L—27% L / Without roof unit

2
.

BRAZE / Components

[(x®m&= : TY-34)2008.02.08

2% / Part name

HE

Pcs ME& / Material

B ZEWIE / Color- Finish

by THN—= / Top cover

ABSEiRE / ABS

AN b=/ White gray

RNT ¢ — / Base

ABSBIfE / ABS

AN b=/ White gray

/
1
1
1 ‘e / PVC
1
3
6

V=7 / Roof AN -/ White gray
ATy b/ Gaskef A U703y / Polyurethane 73v] / Black

Jv ¥ / Latch A77b3 / Stainless steel #ILE / Unfinished
HAERERFTA E A (M6 x 10) K = {f70x-k

Screw(M6 - 10) Steel Trivalent chromate
YMEREXfT 2 6 A7VD3 L8

Mounting brackef Stainless steel Unfinished
Hff~x—ZALC A (M6 x 10) 8 K = f@i70x-h

Screw(M6 - 10) Steel Trivalent chromate

665
630

)
il
i)

65
l
-

198.5

6-M64I8-hFoh /|

6-M6 Insert nut

288

38

T =277 —% / Technical Data

REZMR / Protection class IP65

FEARESEE / Operating temperature | -10C ~ +60C

e~ 5 2/ Flammability class UL94HB

590.3

HXenaHFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

&% /Title

B RHEE N — 7 fF ABST 58" %I
IP65 ABS PLASTIC BOX with OUTDOOR ROOF

3 ]
CJI\I

&R /Approved | ¥R /Checked

BN /Created |F!'% /Product number

PR

BCAR608028G

RE /Scale
1:9

{ER B /Date 2019706706

172




[(xm&= : TY-34)2008.02.08

MR / Internal View

HXARIZIFIL—TEHITTOEEA,
Drawing does not include roof unit.

RF 1 — ()

. h—(HR)
Base (Internal View) Cover (Internal View)
2 288 830
0 |- 1 |- 1 o
g & ® S ® $ B
LN
J \ \ m
3 EJ l\
=] _| \ e s § LN
E
O
[}
P 7 © s §
~
#H
J \ J \ 7 I—E 17
~ ' &
N\ s l@:
E— (AN {
8-M64 - ~Fyh 6-M64 Y- ~Fyh
© 8-M6 Insert nut 6-M6 Insert nut
A
N
E — —+ —
=)
>
(g
>
~ (-l
#H M
8 . ) R
T N .
BW~TE /Max dim. 773.5
X B2 /Title N —
HASH N TFERITE B57K -B5EE b — 7 £t ABST 5K v93 O L
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. |P65 ABS PLASTI( BOX With OUTDOOR ROOF E/S l
&R /Approved | &R /Checked | R /Created |2% /Product number RE/5ea e1'9
. BCAR608028G ‘
G iR 2/ 2
£ B /Date 2019/06/06




	BCAR608028 Model (1).pdf
	BCAR608028 Model (2).pdf

